ZEHZAHAL ZpPdu| 2t IR 2| ZIFLH (201244 10~12%)
A HAy Yt HH=A HHZH Chiefel 7
1 s |2t 2012-10-10 [TAIRH A9l 23] AxpE Al Lfodof 25t 2HErs| B 8X|& 46,000 6 JtE
2 27|t 2012-10-10 | @ &A|I7FU 252 2HEs| | 8X| & 16,000 2 7tE
3 2|2t 2012-10-10 |ZAIKHMH|AIG 22 I HZUALFAE ZHEts| v| X & 36,000 6 7te
4 ezt 2012-10-10 |FEI2XIY 2AF 0l & Fad 7iets| v 8X|5 56,000 7 7te
5 st 2012-10-10 [SHZAIE e TAtE AMNMAE 2H3| 8| X & 75,000 8 JtE
6 27|t 2012-10-10 |=of3 ot 2D 23 ZHes| H| 2K & 60,000 6 7tE
7 LTl 2012-10-10 [T S AHX| 7 2 2HEhs| B 8X| & 65,450 6 7tE
8 27|t 2012-10-10 A& 1-57 Hu|AH & 22 Z2tes| v| 8X|&E 54,000 6 7tE
9 27|t 2012-10-10 |2012d = ZZX| 73 ol 2k 2HEH3| HISX|& 79,200 8 7tE
10 2|t 2012-10-10  [EAISIX|F X| X Hof| 2k ZHEs| H| X & 18,900 2 =
11 2ff7du|zt 2012-11-05 |SHFAIZA 20| we 2tes] | 8X& 17,500 2 7tE
12 ezt 2012-11-05 |Soled siotdf 23 ZHEts| H| X & 27,800 2 7tE
13 27|t 2012-11-05 | &X| 72 2HEhs| B[ X & 55,500 6 7tE
14 a2t 2012-11-05 |2%™WFEI2 dotdRED 23 2Het3 v| 8 X & 50,000 4 7tE
15 oL linly 2012-11-05 [AlH|E =T TS ZIH A 7HES| H| X & 29,000 4 7IE
16 ezt 2012-11-05 |2%EFEH2 HTAITA 23 2Hes v 28X & 8,000 2 7tE
17 oL linly 2012-11-05 |4 697 sictd R H 1 ot Z2HE 3| H| X[ & 48,000 6 7IE
18 Agulzt 2012-11-05 |EX MAH|EZ 7Y slotd e 20 2 Zhets| v 8X|& 51,000 5 =
19 27|zt 2012-11-05  |Wat SZA| T Walo7d HEZIEE v 8K & 66,000 6 7tE
20 AHgul2t 2012-11-19  |RASA A of3 2Hers| B 2X[& 13,000 2 =
21 27|zt 2012-11-19 | 2HAIZA DiflsiZd e 98t 2HEtsl B 8K & 25,000 2 7tE
2 2|t 2012-11-19 (2% AFAIFA 2of 2hst 2Hets| v| X & 25,000 4 7tE
3 szt 2012-11-19 (P S =E MMH|FEA & HZ o 23| H| EX| & 85,000 6 7tE
24 a2t 2012-11-19 (M7 ZXA EHZA o ZHEt3| | & X & 70,000 3 7tE
25 27|zt 2012-11-19 | 2H'5EL2 STAIZA 2H AR ZIEts|H| 8X & 100,000 5 7tE
26 7|t 2012-11-19  |FEAIY SH3|A =zi|7fFoll 2+t 2tets| H|EX& 35,300 8 7tE
27 2f{7du|at 2012-12-20 |Z& MAZst Z23tMEA T8 xS 20,000 1 7te
28 7|t 2012-12-20 [MI10Xt SAIRHHu| 95| Z2HEtS| & 2ot 227 HIE X& 17,600 4 7tE
29 27wt 2012-12-20 |&h=ig A M| &2 79 AN E 2HEs| 5|8 x| & 48,000 6 H3S
30 ezt 2012-12-20  [Ho{2-17 MHH|ZZ AIMH & ZHEs| | & X & 23,000 3 7te
31 AH7da|at 2012-12-20  |Ml14x} M Mu| 23] JH=| ZHES| H| X & 30,000 5 7tE
32 At 2012-12-20 |M14xF A Hu| 22| 243] 71 =] ZHets| H| 8% & 89,700 8 7te
33 2f{7du|at 2012-12-20 |G SZ MHH|EX7H ANMAE 73| 6| X £(13) 30,000 5 7t=
34 Azdulat 2012-12-20 |&t2 M Yu|EX 1A AP E 2Hets| v 8X]|& 15,700 2 7tE
35 A7de|at 2012-12-20 |AlZ37 Y MHH|FA T A E 2| 8| 28X & 99,500 4 7tE
36 Ada|at 2012-12-20 [Z9l6 A MU| &2 7 AAMA E ZHes| 0| X & 29,000 3 7tE
37 2Adu | at 2012-12-20  |MI14xF A Hu| 22| 213] 71 5| ZHets| H| X & 47,000 5 HS
38 |t 2012-12-20 |3|H27 Ho|gh eidof p3k 2HeE| H| X[ & 20,700 5 7tE
39 2l7gu |zt 2012-12-20 |SAM37 Y MHU|FA HA ZHEs| v & X & 60,000 6 7t
40 At 2012-12-20 |Q¥el27d MYu|SAX| T AFHH E 2Het3 v 8 X & 12,000 2 7tE
a4 2f{7du|at 2012-12-20 |At2H1 7 MY Hu|SXX| T HE 2HetE| u| 8 X & 13,000 2 Jte
42 Azda|at 2012-12-20 |2HFER HTATN 2d THZX2HES| HEX| & 160,000 15 7tE




27|zt 2012-12-20 |E43 MYH|EXTH AIMA E 2HEHs| | 8X| & 124,000 4 JtE
LTl 2012-12-20 |E&24 MY ZZ T ANMHE 2HeE3| B[ EX & 34,000 2 JtE
27|t 2012-12-20 |Z=H MYH|EXTA AIMAE 2HE3| | 8X| & 39,600 5 Ite
27|t 2012-12-27  [MI10R} AR MH| 95| 70 %] ZHEts| v| X & 38,000 25 e
ezt 2012-12-27 (2013 = EAIZHMu| |25 2| 9| F2E 2tets| v| 8X|& 395,000 18 7tE
ezt 2012-12-28 |UWHE FEH2 Mu|AlE 2 2HEs| v 8X| & 24,700 5 JtE
ezt 2012-12-28 (2013 = ‘FERZ MH|AlQ Ea| 2Hef 2Hes| v 8 X|& 94,000 5 7tE
ezt 2012-12-28 |EAM77d M E ¢Zo| &k 23 v S x| & 95,000 6 Jte
ezt 2012-12-28 |&{l147 ol 2hst 2Hets| v| S X & 48,000 5 7tE
ezt 2012-12-28 |M oM JHeH Eof| Bteh 2tEs] v E X & 39,000 3 JtE
ezt 2012-12-28 |RAGls 3Atet B HE 2HEs H| 8 X|& 116,000 6 =
ezt 2012-12-28 [&EXX| T s M7 HMe|gor 2Hes| JhzH| 8 X & 200,000 17 JtE
ezt 2012-12-28  [Z+ARR Zeolof st Atz HE 2HEs| 6|8 X[ & 25,200 3 7tE
ezt 2012-12-28 | FH|E =3 £ = Alo| Btst 2t 3| H|EX| & 21,000 6 JtE
a2t 2012-12-31 [BF4 2t =2l 7hets| |2 X|E(2) 24,400 4 It
a2t 2012-12-31 |[E 54! 23 2@l 7hets] 8 X &(1) 76,600 15 JtE
a2t 2012-12-31 |BF4 2 =@l 7hets| |2 X & 18,000 15 JtE
ezt 2012-12-31 |&I™ 2-27 Z7 A ZhetslH| g x| & 24,000 3 e




